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QUESTION 1

What are two benefits of the vSRX in a virtualized private or public cloud multitenant environment? (Choose two.)
A. full logical systems capabilities

B. stateful firewall protection at the tenant edge

C. 100GbE interface support

D. OSPFv3 capabilities

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/vsrx/topics/concept/security-vsrx-overview-generic.html
https://www.juniper.net/documentation/en_US/junos/topics/topic-map/logical-systems-overview.html

QUESTION 2

You will be managing 1000 SRX Series devices. Each SRX Series device requires basic source NAT to access the
Internet.

Which product should you use to manage these NAT rules on the SRX Series devices?
A. Security Director

B. CSO

C. Contrail

D. JSA

Correct Answer: A

QUESTION 3

You are designing a data center interconnect between two sites across a service provider Layer 2 leased line. The sites
require Layer 2 connectivity between hosts, and the connection must be secure.

In this scenario, what will accomplish this task?
A. IRB VLAN routing

B. MACsec encryption

C. EVPN over IPsec

D. IPsec encryption

Correct Answer: B
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Reference:

https://www.juniper.net/documentation/en_US/junos/topics/concept/macsec.html

QUESTION 4

What are two reasons for using cSRX over vSRX? (Choose two.)
A. cSRX loads faster

B. cSRX uses less memory

C. cSRX supports the BGP protocol

D. cSRX supports IPsec

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/csrx/information-products/pathway-pages/ security-csrx-linux-
bm-guide-pwp.pdf

QUESTION 5

You are deploying Security Director with the logging and reporting functionality for VMs that use SSDs. You expect to
have approximately 20,000 events per second of logging in your network.

In this scenario, what is the minimum number of logging and reporting devices that should be used?
A 2

B. 4

C.1

D.3

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos-spacel7.1/topics/task/multi-task/junosspace-sd-log-
collector-installing.html
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